The Strong Box Problem – Solution

The gentleman sends a padlock and key (different to the one on the strong box) to his comrade in Paris. If this is intercepted no harm is done – he simply sends another padlock and key to Paris. His comrade puts the padlock he receives on the box – the box now has two padlocks on it. He sends the box back to London. The gentleman takes off the first padlock and sends the box back to Paris. His comrade in Paris uses his key to take off the remaining padlock.

Note that it does not matter if the 2nd padlock falls into "enemy" hands.

